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System of Equations OYsleoll plaj

Which of the following best 2 poagall cNalaall alsS Caay Y (e qi
describes the system of equations ey gail) Ao Sla) Jda

shown in the graph?

>
1




Flsia

Inconsistent

dependent

Jiiia pey (385

consistent and dependent

JEuay (385

consistent and independent



Subtitution Loy g=ill

Use substitution to solve the Y aleal) aUSS s 8 aaigail) st
4x + 5y =11

system of equations.
y—3x=-13

4x + 5y =11
y—3x=-13



x=—4y=-1



Elimination w0 i=J

Use elimination to solve the system reialeal) ol a3 cddal) aadid

2x + 3y = —10

of equations:
5x+3y=-7

2x+3y=-10
S5x+3y=-7



x=—-1,y=-4

x=1y=4



Elimination using multiplication wrall plaziwl izl

Use elimination to solve the system e alaal) ali o A Cadal) andid
of equations: 6x — 5y =-3

5x+3y =19



x=3,y=2



The Best Method to Solve Equations O\alsall J=J ddy b JLasl

Determine the best method to solve Y alaal) allas Jal 15:1 e Jad] aaa
3x +4y =11

the system of equations.

3x +4y =11
y=-2x—-1

y=-2x—-1



CJH'I ?1.}5:1.1.5.1'171 Al

Elimination Using Subtraction

Capdall aladiuls cidal

Elimination Using Multiplication

bae.“ 1|a'l.'l:‘ﬁ.«.ul,l Aaal)

Elimination Using Addition

el

Substitution



Multiplying a Polynomial by a Monomial 1> &350 (6 391> ,uiS wipo

Simplify bl
3(5x%2+2x —4) — x(7x* + 2x). .3(5x% +2x — 4) — x(7x* + 2x)



7x3 +13x%2 -1

15x2 - 7x3 4+4x -7

13x2 +6x —7x3 — 12

8x% — 15



Multiplying Binomials ;jpi=Jl Olgd wpbo

Find the product Gpal) gl angl
(B3m +4)(m - 5). .(3m+4)(m-5)



3m?+15m—1

3m?2 —11m — 20

3m? +4m — 20

2m? + 4m — 20



Special Squares 4o l3)l Dl poll

Find (3x + 4y)2. (3x +4y)? 1y



9x? +
16y?

6x% +
8y?

9x% + 2
4xy + 16y*

9x% +1
2xy + 16y~



The Distributive Property g jqill duols

Factor rn + 5n+r 4+ 5. Tn+5n+1r+5 Jasdl A Ma



(r+5)@m+1)

(r=5Mm+1)

(r+5Mm-1)

(r—>5)m-1)



Solve Equations of the Form x2+bx+c=0 dauall 013 Slleall J> x2+bx+c=0

Solve the equation dlalaal) Ja
n? + 12n = —32. n?+12n = -32



n=-4n=-8



Differences of Squares jusiy0 u &4l

Solve the equation. Adalead) Ja
25m? — 49 = 0. .25m? —49=0






Solve Equations of the Form ax2 +bx+c¢ dspuall 313 dga=)l ST Jul=y ax2+bx+c

Factor 2x% 4+ 9x — 18. Jalgd) M 2x2 +9x — 18 s



x+3)2x—-6)

(2x — 3)(x + 6)

(2x — 6)(x + 3)

2x—-2)(x—9)



Perfect Squares dlal8JI Jlsy o]l

Factor a + 12a + 36. aZ +12a+36 Ja



(a—6)*

(a+9)?

(a—6)(a+6)

(a + 6)?



Simplify Expressions jul=il byuui

Simplify the expression [(—2xy?)3]2. By b [(—2xy2)3]? s



64x6y12

—64 x>y’

64 x°y®

—16 xﬁylz



Multiply Monomials 39121 SUaslsl opo

Simplify the expression By oy ((% azb)z(—4b)3)d§;
(Ga?b)?(-4b)3).



4 a’b®

4a3b®

16 a*
b5

4 a*b®



Exponential Equation duwll d>ls.all

Solve the equation. Adalaal) Ja
25x-1 =5, .25x-1 _






Scientific Notation wwal=ll jio,ill

Evaluate(9.1 x 1075)(5.18 x 102).  .(9.1x 1075)(5.18 x 10?) das 2
Express the results in scientific cealall e Al daiil ce e

nhotation.



4.7138 x 1072

47.138 x 1072

471.38 x 107>

4.7138 x 1073



Use thé graph below.
Find the y-intercept, and the range.

R T g P PES N

(siall SNy guj)l'l sl e &h’i«]'l Jsha 2a)
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Lagall Lidal) HY) pian s g3l (1 bl jsaall o pdaball Jha

The y-intercept is 1, and the range is all positive real numbers.

Laagall Lidal) HY) pian 9 s3all (3 bl jsaall (e pdaball Sk

The y-intercept is 3, and the range is all positive real humbers.

Aoidal) NeY) aian gb saall (3 ) jsaal) (e phatall Jgha

The y—intercept is 3, and the range is all real numbers.

Al SaeY) pras g saall (1 ol jsaal) (e phaiall Jgha

The y-intercept is 1, and the range is all real numbers.



A college’s tuition has risen 5%
each year since 2000. If the tuition
in 2000 was AED 10, 850, write an
equation for the amount of the

tuition t years after 2000.

Exponential Growth (il godll

ale JS 5% daiy ralal) addatl) (RIS )
ple B adail) 4Bl cilS 1Y 2000 ol i
« AED 10,850 <=l 222000

O Clsia £ oaay adedl] 4RI alial dlalea S
2000 ol



y = 10,850(0.05)"

y = 1(10,850 + 0.05)!

y = 10,850(1 + 0.05)!

y = 10,850(1 — 0.05)!



Simplifying Radical Expressions & 32| jul=ill by

Simplify the expression Jeail) Jal
5 5

2-6 "2-6



10 + 5V6
2

10 + 5vV6

-2

—10 + 5V6
—_2

10 — 5V6

10 — 46



Operations with Radical Expressions 43,32l juleill Jo Sllasll

Simplify the expression Jail) ol
4+/5 + 2+/20. 45 + 2v/20






The area A of a triangle can be
found by the formula 4 = %bh,
where b represents the base and
h is the height. What is the area

of the triangle below?

43 ++/5

dasall aladiuls Eliad 4 dabuall slag) ¢Kas
sacldll Jid b dua 4 = %bh
Coliaf Culial) dabuse Lo g i Y) sa h

2V3 +/5



24 + 34/5
77
?+3\XE
29
?+3JE

29 + 6V15



Radical Equations 4;,3=)| O\)lsoll

Solve the equation x —3 =+Vx—1. X—3 =Vx—1 daadd) Ja
Chick your solution. Jall daia (e (38aS



x=-2,x=-5



.Rational Functions dywill JlgaJl

Identify the asymptotes of the y = 241 Ayl i) Jagha sas

x+2
2

function y = — + 1.



y =1 gaéi iTUmJai‘g X = —Zig.a.ui; :ﬂmln

Vertical asymptote: x = —2 , Horizontal asymptote:y = 1

y=—2: 8 qyliibig x = 1)) liihad

Vertical asymptote: x = 1 , Horizontal asymptote:y = —2

x=—2:8 imhigy =1 ) i

Vertical asymptote: y = 1 , Horizontal asymptote:x = —2

X =2 : 8 ihiy y = —1: ) i bl

Vertical asymptote: y = —1 , Horizontal asymptote: x = 2



Solve Rational Equations duwill OVsl=all J>

Solve the question. Check the solution. Jall e 3iad L Alalaad) Ja
8 3 8 3
n 5 n 5



n =35

n =40



